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Moz

350 &Y uwa>omx 350mm)
S,

500 B! @rvovoms 350 ~ 500mm)

D

(EF3RT DY 7 100 ~ 350mm)
(EFRIOYIRE 1:0.8~3.0)

238

=« EOEX S
B@EoOovo T . .
(1 . 0.5~3-O) <
A
350 &Y @rvovomassomm 500 BY @syovoma 350 ~ 500mm) 4 S DERERNE
350 /% - _
3P NBEFEHAL. ERMEDEH =
7 BADETHRTEFT,
2R ]
BE@oovo
(1:0.3~0.4) T
-
Wz
i) a5 B2 (kg) ELRTYALTY B L fw =
1789 54 | 1,142 750 | 2,000
1000
N
350 1953 34) 1,200 | 750 | 2,000 41 3 HRBEERL
700 | 1456 34 900 750 | 2,000 | ERBAOEHZERZTHIL
1835 54 | 1,076 750 | 2,000
1000
N
500 1987 34) 1,156 750 | 2,000 41 3 HRBEERL
700 | 1493 34 856 750 | 2,000 | ERBAOEHZERZTHIL
28im | 1000 | 1729 5% 940 | 750 | 2,000
W sz
100m %y
eN—2R HEER YBRMEEE TEEEE s L—> 25t EME
(&) (N) (N) (N) (H) (%)
50.00 1.67 1.67 1.67 1.67 2.00
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